F2-2 KiGDOREBEERRME (FR18FE ~28%)
(PR, 4, %)

P18 FUE T EE T oW
BN 0. 26 0.10 0.01 0.08 0.07
JhfEh x {HE ES 4. 06 3.07 0. 05 0.27 0.27
FEOLHEIE 90. 4 94.9 83.3 7.1 79. 4
1=} =)
BAER RPN I S 029 009 00| 008] 0.1
=R = 0. 38 4.33 0. 06 1.17 0.42
FEOLHEIE 93.2 96. 8 85.7 90. 6 79.2
BN 0. 30 0.11 0.01 0. 06 0.12
JhfE X {HE ES 4. 15 3.12 0.04 0. 24 0. 35
FEOLHEIE 89.5 94. 6 80. 0 80.0 74.5
A F]
g Jeg 2 C I 0.39 0.10 0.01 0.12 0. 16
=R = 0.52 4. 35 0. 06 1.21 0.50
FEOLHEIE 91.4 96.5 85.7 87.1 75. 8
(R 4y, %)
Fpk23AE I T 5 TR
BN 0.31 0.14 0.01 0.08 0. 08
JhfE x {HE ES 4.29 3.23 0. 06 0. 30 0. 30
FEOLHEIE 89.7 93.5 85.7 78.9 78.9
1=} =)
BAER RPN I S 039 011 00| o0m4] 013
=R = 0. 58 4.19 0.04 1. 46 0.49
FEOLHEIE 91.5 95.9 80. 0 88. 3 79.0
BN 0.37 0.12 0.01 0.11 0.13
JhfE x {HE ES 4. 50 3. 26 0.03 0.43 0. 38
FEOLHEIE 88.7 94.5 75.0 79. 6 74.5
A F]
g Jeg 2T BN 0. 46 0.09 0.01 0.19 0.17
=R = 7.43 4. 44 0. 06 2.00 0.53
FEOLHEIE 91.0 96.9 85.7 86. 3 75.7
(R 4y, %)
TRk I T TR
I 0. 36 0.14 0.02 0.07 0.13
JhfE X {HE 3= 4.12 2.52 0.10 0. 36 0.34
FEOLHEIE 87.5 92.5 83.3 83.7 72.3
1= =)
BAER RPN R S 0.40 | 0.11] 0.00| 0.14] 0.15
=R = 0. 47 4. 31 0.10 1.21 0. 45
FEOLHEIE 91.1 96. 1 100.0 85. 3 75.0
I 0.39 0.14 0.01 0.10 0.14
JhfE X {HE 3= 4.18 3.00 0. 05 0.37 0. 36
FEOLHEIE 86.9 92.8 83.3 78.7 72.0
A F]
g Jeg 2T I 0. 45 0.12 0.02 0.13 0.18
=R = 6.53 4. 24 0.09 1. 30 0.50
FEOLHEIE 90. 2 95.7 81.8 87. 4 73.5

) ZEOSHEEG=100X (FEOKM) / (R&ZEDORFHRRH)




